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£:® emden® Bug udmdcd 88n0 wisle @y .

A emnde: AnSosm gdo 408.(cne 40%1) BOoR B8nd wdst g gesis.

B emidefgmon gdn 58.(caa 5%) gds cged can T @18 9008 BEnd sewsts.

C omn0e:cbon gdm 18.(cag 4"1.506D eons BHORY trws! BOSH.EdH30 §10ed
v@ent EEnd soarin.gdmed g emin Jednd sew cnG conces.

A emide: Anboes gEm

g3 Input) & o8c1m(Output) 2 e¢m® e DB BE BB coros RO ¢?
a. Mouse
b. Printer
c. Joystick
d. Touch screen

elnanes e D0mEaD ¢In vtk B8 sgm 0B neg 918 coroe O ¢
a. Magnetic tape
b. RAM
¢. Hard disk
d. Floppy disk

i Bebe(Read) s» E58(Write) oxor odai(laser) mntedic ©08mm o0 o000
8= c?

a. Hard disk

b. Blu ray disk

¢. Magnetic tape

d. Flash drive



4. cBuommand go8d dhivma(Install) mg gn Sigmcows(Sowitware) e ¢?
a. OS
b. ewg® @agmen (Application software)
c. Virus guard
d. Defragmentation software

5. Utility software esgemn @ cmwndeics Dxless:
a. Disk scanner
b. Ubuntu
c¢. Windows 10
d. Compiler

6. Sbm@med CPUS eduw(speed) 8188 scwr ©:8m mdz domn @ ¢?
a. KHz

b. GHz

c. GB

d. MHz

7. ¢B8m gi0wme(secondary storage)s®a=00 OGR wmne RO ¢?
4. ove ©aF Bowda(high storage volume)

owe ¢Fm gebows edww(hign access speed)

ve ¢oin uede mcal(high access time)

Volatile 088

a g o

8. Magnetic storage v exslessiemed 2 Solid state storage8 £:8cx= Dferss:
a. ¢f) evrfn 9 uBimasd o Be(less physical space)
b. 98 ¢5o 00 8= (more storage volume)
c. 98 BdeBusiows(more reliable)
d. @@ Sbven ¢ 0N Be 1B B

9. owi®cmai(spreadsheet file)oR 5800 9985 mg B s 2O ¢?
a. Worksheet
b. Document
¢. Presentation
d. Workbook

10. 2¢53 emy® Sagmsow=i(word processing software) sy ¢¢nc g @znloazsied:
Libre office Writer

Open office Writer

Libre office Impress

MS Word

B O O



1.

14.

15

O] keyboard shorteut enidsiz.
a. Alt+ FS: Close file
b. Ctrl +Y: Redo
¢c. Ctrl+P : Paste
d. Ctrl + N : 1200 ©88n ewind=s B $892(Open existing file)

. CEelc ¢ geba eduw (access speed) exn® HO0E€ 'qegf‘iweﬁ 8&te opmed:

a. Hard disk, Magnetic tape, Optical storage, Pen drive
b. Pen drive, Hard disk, Optical storage, Magnetic tape
c. Magnetic tape. Optical storage, Pen drive, Hard disk
d. Magnetic tape, Optical storage, Hard disk, Pen drive

. c8wemm 80 (monitor) ecm 82 ePdce AL BEO0 28m B emedSs (port)

= ¢?
a. USB
b. RJ45
c. DVI
d. Serial

B¢l wme® ecmico(word processing software) B3¢ &1018 umne Bzfe:
Header e»d footor oz B5%® emnlemO page number gionesf ¢ 1.
Page numbers edi® ec=lo® (1,ii,iiil) 8= gww ne vim.

ced® Snews! wBom we S Section break ves 35,

»8 8gdzi(new page) gimes’ BESO ctri+enter £85n me wizm.

Bl o

Functions (&) in-built @8.

s8Bema(user) BBz3 formulas B508ma(define) meg gn ob.

oo ®esi(spreadsheets) esgwo formulas w8 e emwD.

od worksheet8 &8 formula &= worksheet 20 copy e »i.

R 0 o

. Beogmo S8 (validation rules) Bt Hesd i gonvw emidsiz.

a. Beeud cma 853 ICT egwr c@r o8fm ¢ e 65 sce ges »d aw.

b. Bseconed §C @ Aged Hs0d gines ve gn Hdhimed type B3 aw.

C. ylocewned bwus Bxed email E8xw gimed Be un dhned type ©Jd .
d. =@ ICT eco can o8 cna 98¢ ¢efed arnes ©0 a1.

gdm gom 17-19 e covn Eedn Gi1b e0v® o edndea coecdd ndosim.

Gross value=Unit price X Quantity

. Gross Value X Discount
Discount value= -

Net Value= Gross value-Discount value




AT e . L o T e ¥ RES P

‘J-Pr-bd-ﬁct Unit Price |Quantity Gross Value Discount (9'5')- ' Discount Value Net v-iu-
2 .ICcPU 8500 12 3
3 RAM 11000 73 5
_ 4 Monitor 13000 15 6

=]
17. Monitor eszzs Gross Value o@mme 8500 D4 emfecd (cell) ames »e @m formula
RO ¢?

a. =B4*C4
b. =B4 X C4
c. =SUM(B4*C4)
d. =SUM(B4 X C4)

18. CPU esgeo Discount Value oesma Bée qiaes me gn formula o ¢?
a. =D2*E2/100
b. =D2*E2
c. =D2*F2/100
d. =D2-E2/100

19. RAM &g Net Value oo Ede ained me gr formula nes ¢?
a. =(B3*D3)-F3
b. =D3-F3
¢c. =B3*C3/100
d. =D3-D3/100

20. &» (Functions) ese> Formulas &880 80101€ gmes enissis.
a. Functions es» Formulas sz e¢n® u88cmaiuser) 883 Rbooma(define) me g
@8,
b. Functions s8B8cmw 8828 Steome we g s Formulas, in-built 8.
c. Functions, in-built £2 ¢= Formulas 288cow 5823 Sbeone ng g3 of.
d. Functions » Formulas vz e¢o® in-built 8.

21. Bexas’ 100med cpa cici®con (spreadsheet) ainest o6 e, cRa 400 2§ soas’
g e ecsiBeo(display) ©:8m mdm e@c@(tool) e ¢?
a. Data validation
b. Conditional formatting
¢. What if analysis
d. Symbols

22. woYuvemws(presentation). ... ............. OHMNUD DO,
a. Pages
b. Sheets
c. Slides
d. Tables



23]

25;

26.

2.

29.

50 8go=i(new page) document omzt ecwe o SZeO(insert) ©IB BSH keyboard
shortcut @ ¢?

a. Ctrl+N

b. Ctrl +M

c. Ctrl + Enter

d. Alt+M

- o80sewm (presentation) slide 50z e o @0 bultets gmes 8500 coas cH.e®

86 Sihd mlcse® oon 9@ ¢?
a. Slide sorter
b. Notes master
c. Slideshow rehearsal
d. Slide master

Open source @agmrowss Des 803 o ¢?
a. Libre office Calc
b. MS Office PowerPoint
¢. Adobe Photoshop
d. Norton Antivirus

Slideshow g2 god €0 EHICOT 8o g wm key o e ¢?
a. Fl
b. Esc
c. Shift
d. Cul

Slide gom 2,5,6,7,8,13 &3 14 print 8600 oo wy Smw (instruction) @ ¢?
a. 1-14
b. 2-14
c. 2,5-14
d. 2,5-8.13-14

- https://www .abs.org <= URLS Bw@oEe (protocol) @ ¢?

a. hitps

b. www
c. abs
d. org

853 SeendEaedi(protocol) Blest @ ¢?
a. Ik
b. Dropbox
c. IP
d. Proxy



30.

Skype oy 81 @ ecw co®imuL ¢?
a. Grid computing

b. Cloud computing

c. Mobile computing

d. Video conferencing

3. von ¢edm gve 900e® De® =@ (top level domain) am8s o® coxd Bewikma
s 68 m8a (domain) o= ¢?
a. .net
b. .k
c. .au
d. jp
32. &3 eanonBcEcmO ne auS nodes efvord vesidsiess:
a. LAN
b. MAN
c. WAN
d. CAN
33. @08 8a(web pages) (Bemxs (display) 888 s ©98m 8 Sacrrens (software) @ ¢?
a. MS Access
b. Ubuntu
c. WinZip
d. Opera
34. hitp//www.xyz.com @z URL 082530 019§ boxife nos ¢?
a. o®® 088 ¢2Bw (web site) £« (commercial) e O sidtienn o&.
b. @®® URLS s»@0&a (protocol) “http” 8.
C. =08 e0@ Egd (web page) wdwo credit card Bedns gines 888 @108 .
d. 288 URL wows c@ s¢m o8008 (service) “www' ob.
563 gom 35-37 wgmo sum O coewdd méosin.
SID Sname Marks ModCode TelNo
El123 Perera 53 FNDE103 0811234567
E456 Fermando 18 FNDE103 0771234567
E800 Silva 87 ECNEL00 0711234577
35. 990 e ew oo gr LOSD wnd (primary key) o ¢?
a. SID
b. SName
¢. ModCode
d. TelNo
36. TelNo esgon 080 ges ¢fo Bboe (data type) @t ¢?
a. Number
b. Text
¢. Currency
d. Yes/No




37. 29® 0qed §18 mosign wnd (foreign key) po ¢?

a. SID
b. SName
c. ModCode
d. TelNo
38. ¢im egeasm (DB) ;B ¢w(data) filter 5500 Danst oy Dfess:
a. Reports
b. Forms
c. Tables
d. Queries

39. ¢ egeisst (database) 800 BOGRE vmve RO ¢?
a. 29bmO (table) ¢uim amed 88990 forms w8 me v1>.
b. 29&m0 (table) ¢fn emes’ B reports 8on DE L.

C. of Sgdnl (table) vo&mn 8 (o w8uw(DB) e queries Sbereic e
SNOYD.

d. Relational database == me B8¢ relationship ezne8 0q (table) 88 vy

40. ¥ g (database) esge g @O Hodne (field) pom ¢?
a. Age
b. FirstName
¢. TelephoneNo

d. Fax

B enmde (Ogwom $OxY)

1. cws qulebs gl st keyboard shoreuts Gasim. (e 1°6)
a. 0¢5 e1mg® evipdnd » 8908 qimeds B8 (To insert a new page into a
word processing document)
b. &ag windows minimize 88®9 (To minimize all windows)
C. comdm ol 899 edn vwds 888 (To move to frist page in a document)
d. Folder ne 418 Bug ewnym select 882 (To select all files inside a folder)

€. Windows 88 charms bar §e8@0 (To display charms bar in windows 8)

f. ce ci8dnds 4168w 8880 (To start a sublist)



Los edn Bag Dy (tables) 28 ¢S ©gcem0 (database) guss 8.

Student Subject
SID |[SName |DOB Gender | SubID | | SubID | Title | Credits [ LID |
Alll | Jayasinghe | 23/11/1998 | M AR100 | | AR100 | Maths |3 L2
A230 | Silva 02/02/1999 | F AR220 | | AR220 | English | 3 LS
A300 | Perera 16/01/1997 | M AR220 | | AR300 | ICT 3 L2
A400 | Fernando | 23/08/1998 | M AR300 |
A561 | Weerakoon | 11/11/2000 | F AR300
Lecturer
LID LName Email Tel Salary
L2 Perera 0811234567 180.000
L5 Jayawarderna Jayal23@gmail.com | 0711234567 184.000

a. won Sedn Sedy (fields) vgw ¢ofo dbes (data type) B ¢ost». (cae 3)

i. DOB:

ii. Tel

.  Salary

b. oo qEetn o1@ Dqbw (tables) ezw® @o®» wndp (primary) Ew ¢Sosis.

(cme 3)

i.  Student:

ii.  Subject:

iii,

Lecturer:



SRS SR i s ARSI, P

1 'Name
2 Sunil
3 Nimal
4 Anusha| 97 56 45

i.  E3 emdsc (cell) pg Average venme e geg oo (function) Bozio.
ii. F4 omdec (cell) e Rank oeme e @ey Goas (function) Bwesim.

(cng 2)

b) C2 e C3 emis (cells) pe Grade vema s acey Go(functions) Bewdm. & £
von qieds Senem (criteria) coewi® ndowin. (cne 2)

80-100: “Distinction™

70-79: “Merit”
40-69: “Pass”

0-39: “Fail” (2 marks)
1 Student |Marks Grade
2 Vimal 78
3 Namali 56
a

C. B3 e C3eonds (cells) ne T a8 c:B8uwdesd gipe cousd veme 8880 ges 8o

(functions) Euzim. (Cne 2)

4. A ewizc(cell) me =B2+5C2+8D$2 w» formula g e0.6® formula B1,C1,D1.A2,B2
o C2 ws ewdsoe (cells) copy me 80, Gt Be wn formulas B1,C1,D1,A2,B2 s C2
ez enijs(cells) e Ew ¢zl

|« [T SO BN TSR e
1 =B2+3C2+8$DS$2

2 |

i
-



5. a) con qEleds query designd egeum €timdc T el query eow ey SYemen
(criteria) G ¢ im.
“ereg 500 Difilend carow 888 Snsied 58 cosiBd” (caa 2)

*Display names of all male students who have scored more than 50 marks.”

S T — = PR

- Field: AdmNo Name Gender  Marks 'DOB
- Table: | Tabley ‘Tablel Tablet Tablel Tablel
~ Show: g | v | B B O

b) cwn Sedm query ©m run me B0 eswessitm (not displayed) megn Ewxim.
(cna 2)

Field: | Po PName Qty ) Colour
Table: | Table2 Tabte2 Table2 | Table2 Table2
-~ Showe: il & | ¥ ' E2 o
 Criterta:
on

C) oo (uSedn i edwmO (diagram) ex® type of relationship 2@ ¢? (e 2)
Product ) manufacturer ¢ (tables) esd:

Product @ distributor £¢ (tables) amd:

Distributor Iy ( Manufacturer ]
¥ DNo | : ¥ Mno
-I. & |
i Product
- X ¥ o :
§ Dho :
Mho '< o
T

10



C emodes (GOz%)

l. woo quledn oe (terms) cpvdes o888 ewRE nosis. (cme 2.5%3)
a. Register memory
b. Optical storage
¢. Keyboard shortcuts

2. con qEedn e 88ag end wdwxl Bustm. (Crg 2.5%3)

a. Network topologies
b. Electronic whiteboards
¢. Collaborative software

3. cvo qEetn u¢ (terms) soasicons DoB®. (Cne 2.5%3)
a. Proprietry Software es» Open source Software
b. vimGi®ss @agmmen( Spreadsheets) ew database management systems

C. ©dOB @agmon (System software) e @wg® @sczmeo (Application software)

4. zop gFedn ¢ oEE HIF» (cra 2.5"3)

a. Cloud computing 8 g&n8 2:5
Cloud computing 85w 2z

C. BdtBcmc Beseslo ou®cd ®gmico(spreadsheet) mBoewsd cream
gewids 3=

*******#*##*#***************#***End of Paper*****************************"**
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G1GLBUTL

Gpyib: 3 weGHLmeorissi

uGGmeigupeiion  siebeon  alleMbsEnsSD | COpelaloaTs  mECILELGHISH  HTEILILIGET qshm‘ﬂasﬁﬁ|
aflenLwiaf s, &HenmehBLILIHLD.

Sieypibsevsst (Instructions)

ufenswnengl 3 Ufeysenends Ganemi@eieng. (UedH A, B uspw C)

T60AVTL) LIS SaMgUI(LPaTTen 616060 ST HBEHHEID afenL e,

ued A: 40 MCQ olemssemens OCstemi@sreng (40 X 1 yehefae).
alemgbsreiled sfwren allenuier Sp CamoBa.

ugg® B: 5 siiLewly eolemdsseend OCatammgmsdams (5 X 6 ushedse).
all@mgseisd aupmisLBeien SentGieuafluled allenLsenen s11pGIs.

usgE C: 5 slLenoin] ofemssenas Qaremngmrsdama (5 X 6 ushefss).
elembsreated supiisiLGoten BenL Couaiiulist aflenlsamen 61(10GZIS.

Part C: preig s By eflemdsmen o sien_sgdamas (4 X 7.5 ysielsen). alem
siomienionen  GHIILG ol somen Cpafeuts supsad. alenlsst  al@meyss
QUTBGHBOTHSTS EBHoHsCouamiBl. Lisiaem] SHaucsEns® Ssveg alamalne
Geneflufled e1UpSILIBID DL BEHHES LeeSaT GUIDHRISILIL TS

ugd A: MCQ

. SpdaremiueuBliet sim 2 el wppb Ceusfull Béssrs LLSLUGSHSULBEDS?

Which of the following device is used for both input and output?
a. &g (Mouse)
b. &FsLGUTYS (Printer)
c. wapsGFd (Joystick)
d. GasredHeny (Touch screen)

an soiaiulsy shsrlswissd sralomed GCrallusBEel LWLSUGSSLULGS M
FnHed e1gi?
What is the device used to temporarily store data in a computer?

a. amhs HILT (Magnetic tape)

b. RAM

c. eueteul (B (Hard disk)

d. Grpdpsu’® (Floppy disk)



. Brelenen aMFUUSHG LHPD aWSUSHES Gavs] Osmfsop_usHenens (laser
technology) uweLGSHIdEn FnHeand ag)?
Which device uses laser technology to read and write data?

a. euaial® (Hard disk)

b. Blu ray disk

c. &mbg BT (Magnetic tape)

d. saeusd Gafuuner (Flash drive)

- 90 soialeg pgelsd uHeaipssd G Geuemigw GLETGLITEH o157
What is the software that should be first installed into a computer?

a. uswiGgwesy (wenpenio (OS)

b. GgBwrs GueGumst (Application software)

c. Virus guard

d. gousmnsze (Defragmentation software)

. Spsanemuaubsd LWeLT. G GosTEUTHEHsSTe P 2 FSMeD a1g?
Which of the following is utility software?

a. sl eumlg (Disk scanner)

b. Ubuntu

c. Windows 10

d. @sneuld (Compiler)

. pefen Geuipempsufunsduier Gousb seTallLiGag!:
The speeds of modern processors are measured in:

KHz

GHz

GB

MHz

a0 oe

. Bp&STEILUGL sppibseisd BIENLmbsy Mo GCasssnise ubni  Senipuwimes
FaDDl 617
Which of the following statement regarding secondary storages incorrect?

a. oiFs Gssas sney (High storage volume)

b. 2 wi sigused Geusid (High access speed)

C. onsgssTal Ceyb siFsw (High acccess time)

d. sufeysrsa (Not volatile) '



8. ambp Gaésabaien (magnetic storage) @UiBLELNE gamnopency CapboHms
(solid-state storage) sngamhissiia Haenn 157
What is the advantage of solid-state storage devices over magnetic storage?

a.

Gopheonens  Cumps @mLGeauefluisnenr  aibsdama.  (Takes less
physical space)

OIFs Cpdses spnalmand OCsmei@ersng. (Has more storage volume)
HFs pusssemw (More reliable)

sibBeuendwinenr sielemenyb Gxés (gujb. (Can store any type of data)

9. a9 alflsmst Cariutaz UakumaaTubpET aHaTs SPWUCILGEHDE:
A spreadsheet file is known as:

a.
b.
c.

d.

usnfidsmennas, (Worksheet)

gisuemons, (Document)

(peitemauliy Blsbssenaswins, (Presentation)
uswiiiysssions, (Workbook)

10. Spsasradiuauppsd  aim @B QETweDaPlLBSSH  GLETEUTEHST  Dieden?
Which of the following is not word processing software?

a.

Libre office Writer

b. Open office Writer
¢
d

Libre office Impress
MS Word

1. sflwmen allmstiuomas Gnssafulmasd Csfs.
Select the correct keyboard shortcut

a

b
¢
d

Alt+ F5 : Close file

. Ctrl +Y: Redo

Ctrl + P : Paste

. Ctrl + N : Open existing file

12. Spanenuaplied abs  sppred  gueufmsuls  oEpeGsTE  Caussmss
SM_BEma?
Which of the following statement shows access speed in ascending order?

a.

st (B (Hard disk), smbs mrim (Magnetic tape), geafulwesd mMenameumsd
(Optical storage), Pen drive

Pen drive, euaig.® (Hard disk), gefulwesd Bememsuasib (Optical storage).
&Mbha BILT (Magnetic tape)

amg ®mrLn (Magnetic tape). gefuiwsd Bevarsusid (Optical storage), Pen
drive, suenis_ B (Hard disk)

sMbg ®TLT (Magnetic tape), egefuiwed Meermsus (Optical storage),
sustiasl (B (Hard disk), Pen drive



13.90 smiaigdeoy (monitor) e sHemer GoenlLsHEL  ULSLUGSSUILGED
BememiiLsid 6157
What is the port used to connect a monitor cable?

a. USB
b. RJ45
c. DVI
d. Serial

14. Ggned  (weopoufunds sysuemmiser (word processing documents) G@mLijumen
depwiren sxpiienens GgfleyGauis.
Select the incorrect statement with regard to word processing documents
a. Uss aedmen  Hemeolugd (header) spiewg sgs@Eds (footer)
B svrmib.
Page number can be inserted on either header or footer.
b. uss aemisme o GImos aemissMas @GHUILmD (i, ii, iii).
Page numbers can be specificd as roman numbers (i, ii, iii).
¢. Section break oubsb HFsULFD 3 Ufeseen W BGL o (HeauTds (pigu|ib
Section break feature can only create a maximum of 3 sections.
d. Ctrl + enter apsud @@ SyuamBHed GeuBmiLl USSGITEIENBE G (HSeUTD
(insert).
Ctrl + enter will insert a blank page into a document.

15. denpuwinen snpiienens 0%fe GFus.
Choose the incorrect statement

a. MysSel L LennssULL [Heienel.
Functions are in-built

b. &éFgiisen LW augIEIDGSLILIL BelaTar.
Formulas are user defined

c. alfigreisefed gsHmseat GuImbBalsvensy (not supported).
Formulas are not supported in spreadsheets

d. 96 umfigsrafe) LLATUBSSILBL GSHISEDS WHEDTE U HSTEHE
h&BGleVHSSEVTLD.
Formula used in one worksheet can be copied to another worksheet



16. Data validation rules @een B sapienens GsfleyGauis.
Choose the statement that violates data validation rules.
a. g wreme] ICT utigdsd 85 yeefast GuUBDTY. syemmesd 65 Usiteflas

el601 2 _aitetlL LILBE em ).

A student scores 85 for ICT, but marks are entered as 65.

G wiemafd amLAl CQuUI SULFSE Qeuiw Geustngw G gHw
SIUIH WHL Guw] HLFs QFUWLLBGSDBS.

A student’s first name is typed iu the place where his last name should be
typed. 5
o0 buflal B waafow sULEFs Gsun  Ceusmigw BL S0
DiUTH QUG ©_eiermi UL Beierg).

A person’s age is entered in the place where his email address should be
typed.

gweien ICT um sdbsmer yshelse, sailQse uda GaiwILL Getsrer.
Saman’s ICT marks are entered for Sunil,

1719 eweguren  elemésende Udeumd  aeyuLdsdt  ohgd
swoaLr@sefial SugluenLuisd aleL wefds.

Answer questions 16-18 based on the following diagram and equations
Crds Gupiog (Gross value) = i@ almeo X Ggmena (Unit price X Quantity)

&1fey Gumind (Discount value) =

Gross Value X Discount
100

Gaiw Gupuwg (Net Value) = Guigs Gupiod — asfey Gupiod (Gross value-
Discount value)

R i SEE=E . ST

~X Iﬂoﬂu::t_ ) Unlt Pﬂc:_ Quantity G;'ms_\fllu. Elt“n;unt f!a)u__[)ls_mung .Vt-llu- i\"l:tt Valua |
2 CPU 8500 12 3
3 [RAM 11000 73 5
4 Monitor 13000 15 6

17.D4 cell @ Monitor Gz Gzl Guuiwsuimens (gross value)
BaIUIBNSDEG CUTHSHIN GEHTD g7
What is the suitable formula to calculate gross value of Monitor in D4 cell?

oo

18. CPU

=B4*C4

=B4 X C4
=SUM(B4*C4)
=SUM(B4 X C4)

Bpster  sfley  Cupoguiemens  (discount  value) sefilIGausHEL

CUTBSSITE GHSSTD 6157
What is the suitable formula to calculate discount value for CPU?

a.
b.
¢. =D2*F2/100
d.

=D2*E2/100
=D2*%E2

=D2-E2/100




19.

20.

21.

22,

23.

RAM @aig Gpiiw Gumwduienend (net value) selUiGausBel QuUTmHSSITE
G&s@TD eig? What is the suitable formula to calculate net value of RAM?

a. =(B3*D3)-F3
b. =D3-F3

¢. =B3*C3/100
d. =D3-D3/100

FIjUSsT BB  GSHHTHEELST OFSTLIymLW  sflwrer  Gsfelemers Gz fley
Qauiss.
Select the correct choice related to functions and formulas

a. a6 LOBE@ID (@éh BT BISBET SLE W ByesiBip Liwsenmflentmed

2 (heurdsLUL (BeTsn gl
Both functions and formulas are user created.

b. aniyse Liwsearfleommal 2_(HeuTSSULL Belengi & G HBTRIB6T
S 6D BUILN (B6TaT6T.
Functions are user created and formulas are in-built.

C. amyysei S Lm0 SULIL (BeTier Sil_est G HBHTRIBE vwestflenmmet
92 _(HeuTHsUUL (BeiTerie.

Functions are in-built and formulas are user created
d. smjuysel wWHDID GSHIRBN HAW BIHIBL S MmwdslILL Beleal,
Both functions and formulas are in-built

100 wiemeuiseian yeeflaet o alflgrefed o stefllul Beenar. 40 BbEé
GopauTal  Lsiafdmen  Sauly Bpdde S AILGSHBNSHSL  OUTHSSHOTET
S(HeNH6T elemeu 7
The marks of 100 students are entered in a spreadsheet. What are the suitable tools to
display marks which are below 40 in red colour?

a. Data validation

b. Conditional formatting

c. What if analysis

d. Symbols

PG (pewaully BSpHamsLTRId Liseumauaiaubnsd aaunder Gsafiumeib:
A presentation consists of a collection of:

a. ussmssi (Pages)

b. srsiimsit (Sheets)

c. uLallsvemavaar (Slides)

d. s Leuememaser (Tables)

B  SuandHHs  yHu  UssSMBF Genma  (insert)  LWRTLESBILGD
elensliLevens Gnb@Geud (shortcut) ereien?
What is the keyboard shortcut used to insert a new page into a document?

a. Ctrl+N

b. Cul+M

c. Ctrl + Enter

d. Alt+M



24. 90 el Bapsameulsd Aaulypn GedseBsst (bullets) BLiu

25,

26.

27.

28.

29.

Goueminigut  Cpevauwjsiiong). @ usiuienen el Hpeanes GFLOTHHIESHES
BPpSbsTatLBE a6l suFH S LILSIUEGSSIULIQmEBELD?
In a presentation red colour bullets need to be applied to 50 slides. Which of the
following facility should be used to perform this task most efficiently?

a. Slide sorter

b. Notes master

c. Slideshow rehearsal

d. Slide master

Ueteumeuaieupmled Smbsd epev GLostOummerr 182
Which of the following is open source software?

a. Libre office Calc

b. MS Office PowerPoint

¢. Adobe Photoshop

d. Norton Antivirus

Qb ULalsbanevs M- Fulmel HFHGUSDGL LLUSUBSSULGL stal ag?
What is the key used to abort a slideshow?

a. Fl

b. Esc
c. Shift
d. Ctrl

S\psbsteniueunied ahs spfeymsseo slides 2,5.6,7.8,13 whmubd 1453 SiFFBD?
Which of the following instruction will print slides 2,5,6,7.8.13 and 14?

a. 1-14

b. 2-14

c. 2.5-14

d. 2,5-8,13-14

URL https://www.abs.org @engl protocol ereiten?

What is the protocol of URL https://www.abs.org
a. https

b. www

c. abs

d. org

SpareaniusuBried siE @rp GE(WwemBLTGLL?
Which of the following is a protocol?

a. Ik

b. Dropbox

¢ 1P

d. Proxy



30.

31.

32

33.

34.

SKype aieiugl aIBDBHT Qb ©_SNYRILOTESLD:
Skype is an example for:

a. Grid computing

b. Cloud computing

¢. Mobile computing

d. Video conferencing

Ueicu@id eabs e Wil sueMEsmd GHsHs0eunm B GLE CBTLFLULLSsoe0?
Which of the following top level domain does not relate to a particular country?
a. .net

b. .k
c. .au
d. .jp

Pk HLLLGHHO 2 afien nodes sefer Coafiiy Beourm oPuUILESBS:
Collection of nodes in a single building is known as:

a. LAN
b. MAN
c. WAN
d. CAN

Spsengpild  QuaTouTheiEaisd Smemnull UbsRISaN6ns SMLFUUBSHS THMIL
UsTLB SHsHeomin?
Which of the following software can be used to display web pages?

a. MS Access

b. Ubuntu
¢. WinZip
d. Opera

URL http:/www.xyz.com o | &1 G&TLIymLW Henipwner sabm 6157
What is the incorrect statement with regard to URL hitp://www.xyz.com 7
a. Bg asss Crisssdpasts silalpsd CeuUNLLL @ aemaSSeb.
It is a website developed for commercial purpose.
b. URL @b vemauBsaiiul L Grfésemd “http” sysib.
Protocol used in the URL is “http™.
C. BU ussSFL BLI DL STeysenen © aialBougl UTSHISTUILTIGE.
It is safe to enter credit card details in this page.
d. @st URL 860 eupmisiun Geen Gaensusst “www™
Service offered in this URL is “www™.




delioumhd 'L ausnemiiienet  Hpgliuen winsd Qenewi@ 35-37 euedywITeN ellambasEndg
elenLwefiss. (Answer questions 35-37 based on the following table.)

SiD Sname Marks ModCode TelNo

E123 Perera 53 FNDEI103 0811234567
E456 Fernando 18 FNDE103 0771234567
E800 Silva 87 ECNE100 0711234577

35. @6 oI Lauememuia (paiews stal g7
What is the primary key of the table?
a. SID
b. SName
¢. ModCode
d. TelNo

36. TelNo @G0 QUIGBSSWTS STe| s 61H7
What is the suitable data type for TelNo?
a. Number
b. Text
c. Currency
d. Yes/No

37. @6 oIl Leuememuilal opBBwE sTal e1?
What is the foreign key of the table?
a. SID
b. SName
c. ModCode
d. TelNo

8.9 DB uledmba asyeloen filter Gauiusies Spsaremiusupiied 10510
GluTBSBOTEIH 6157
Which of the following is most suitable (o filter data from a DB?
a. Reports
b. Forms
c. Tables
d. Queries

39. gyaySgentsei GBI uTE FfwTEr sBieerd G a6F s,
Select the correct statement related to Databases

a. @f S L susmentuied HTene 2 siTariL LUG6UBIEBENETTL (Forms)
LILISITLI(B SHBHEVTLD.
Forms can be used to enter data into a table.

b. @1 SLaumenulsd srma e sl spismasment (Reports)
LWISTL(H S S0 LD.
Reports can be used to enter data into a table.

¢ 901 9B SLaumamomus QBTEHIL  STaSoHTEsEHHE al@asSmen
(Queries) o _(mouTds WPQUITE.
Queries cannot be created for databases with only one table.

d. Ggm_jysenr (relationships) @eveors  OILeusHamEsiT GHTLiyenL W
SIS HeNRIS6NN B(HBSHUTLD,
Tables without any relationships can exist in relational databases.

s 9




40. 9® BIUSHMBABGL MNGBSBWHD 6 UvdHmar (field) Gsfs.
Select a field that is not suitable for a database

a. Age

b. FirstName

¢. TelephoneNo
d. Fax

Part B: s Lenwiiy ellewnésein (Structured Questions)

l. dbsrgmib Usiaenbatan alosFlunnsd GUIGE fsmsT o pEHs.

Write down keyboard shortcuts for the following tasks: (6X1 marks)
a o OemwopaufluBsss QIS Ho  @n  yFu  usssHomern
2_(HeUTGaSBE:

To insert a new page into a word processing document:

b. senszm windows 2 b SHEGUSDHS:
To minimise all windows:

C. 9 SUuIHHD WHeToug LSSHBDE bSIUSHE:
To move to first page in a document:

d. 9m Gariligust (folder) o sen owaiszs GCarevausmenyn (files)
CaifleyGlFisusng:
To select all files inside a folder:

e. Winows 8 @sb charms bar @mané &m fULGSS6HBEG:
To display charms bar in Winows 8:

f. gewem’ uliguensud (sublist) OBTLTRIGMSHE:
To start a sublist:

10



. 95D SINSHNSHG B uBBED UTSEUGD DL I SHMETE SHEUTHFH 60
Glemairs. (Consider the following tables that belong to the same Database.)

Student Subject

SID | SName DOB Gender | SubID SublID | Title Credits | LID
Alll | Jayasinghe | 23/11/1998 | M AR100 | | AR100 | Maths | 3 L2
A230 | Silva 02/02/1999 | F AR220 | | AR220 | English | 3 L5
A300 | Perera 16/01/1997 | M AR220 | | AR300 | ICT 3 L2
A400 | Fernando | 23/08/1998 | M AR300

A561 | Weerakoon | 11/11/2000 | F AR300

Lecturer

LID LName Email Tel Salary

L2 Perera 0811234567 180,000

LS Jayawarderna | Jayal23@gmail.com | 0711234567 184,000

a) Ui LeVRISEDSESTa &6 susnsdulamer STDHIB.
Write down data types for the following fields
i. DOB:

ii. Tel:

iii.  Salary (3 marks)
b) @sulaunrm SilLsumsmulaigid (paeimnsF Freiulsma 1D HIE.
Write down the primary key of each table:
i.  Student:

ii.  Subject:

iii.  Lecturer: (3 marks)

11




a)

-« N SR . Fu
1 (Name [ICT |Maths

2 (Sunil 56 78 21

3 Nimal | 88 78] 23 X

4 Anusha| 97| 56 45

i. ggnefuias safuiGusBel Gurddswrsn armlaer E3 cell Ben
o _6MBsm ei(pgus. (Write a suitable function inside E3 cell to calculate
Average.)

ii. auflens Pesoulmans sSefUlBusBeH GuTmSSWE sriiser F2 cell
@& o _aMGsm supmsm. (Write a suitable function inside F4 cell to calculate
Rank.)

(2 marks)

b) Spssramid GipHmesaisl siglumLuisd CUDBLBmeE SalIGuSH@L
Curpbsioner sridensn C2 wppd C3 seodHaust supgis. (Write suitable functions
inside C2 and C3 cells to calculate grade brsed on following criteria:)

A

S, N

1 [Studen Mark; Gfuacie-

80-100: *Distinction™

70-79: “Merit™

40-69: *Pass™

0-39: “Fail” (2 marks)

2 Vimal 78
3 Namali 56
o

¢) & dulsd eupmsiuBeren swsnC st Wysmpn B3 wpmin C3 sevksstgsi
CUTmHSSINTE ESHTHSMsT slHIS. Write down suitable formulas in cells B3
and C3 according to the equation given in the display. (2 marks)

Tt

i

3 (y=x>-3
2 IX -2 A, o)
3 v=x>-3

12




4. 9 olfigrefso Al cell syewm  =B2+$C2+$D$2 SIRID G HHSH e
e ssn_s@aEsmg. Cell Al Gausiten @&&&no Bl, Cl. DI, A2, B2 wnnw C2 @sv
U5 Geluwiudams. &6  sriLiu L usfliggsrefisd  wHmd  Hevrissiso
SILALUGHSULL Beien  GHBrasamsn stapsis. (Al cell in the worksheet contains
the formula =B2+$C2+$D$2. Formula in cell Al is copied to cells B, C1, DI, A2,
B2 and C2. In the worksheet shown below write down formulas that will be displayed

in cells B1, CI, DI, A2, B2 and C2_.) _ B . (6 marks)
|+ T VT B ]
=B2+§C2+8DS$2

'iM:l—l

. a) SBp sTiLlu’L  query design sefisi CUImGHSIonsT B Risefsy  SpbeTamid
query Ssnetl QUSISHLLILGDGS CoHemsuwrel GUTBHSS0T Criteria enar 11085,
(In appropriate places of the query design shown below write down suitable criteria
needed to create the following query.)

50 VG DIBDEGH DiFHSWOTR  UsiTeMEBenernis CUBTMBEHTE  DimRHEH e
LoTemisuf SoenBHid  GUWTEmend ST ALLBGHHIS.” (*“Display names of all male

students who have scored 50 or more marks.”) (2 marks)
Name lcerder Marks ~ DoB |
"Tablel Tablel Tablet Table1
| - —
1 R < ) A

b) Spsatgmid query wreng) CrwBUbssULGmaLlsd, ST LOULTE fields sensn
sipgis. (Write down fields that will not be shown when the following query is

(2 marks)
I PName J[Qty oD | Colaur
[ Table2  Table2 |Tablez [ Table2 :
(I I . I — — ]

13



C) SipésTamib suELIL S Ugsmyib Ulsireu(heussieuimisbSlanL_uied
sitalsuanSILTa GHTLTY STemiiuBio?
According to the following diagram what is the type of relationships between:

(2 marks)
Product and Manufacturer tables:

Product and Distributor Tables:

| Distributor

I 1 Manufacturer
¥ ono LY 7 Mo

5 L1 [ P

] 3 Product

1 ool ¥ PNO

;' i DhNo

© Mo =

Toagine=s

Part C: &' @evy elemdset (Essay Questions)

. Comaliugel 2 giramsme ULESLGSSHU Udumd  UusksmeT  aladEs.
Explain the following terms using examples where it is necessary. (5X1.5 ysitefissit)
a. ugley Henemsusd (Register memory)
b. @efluiwed Mememsusid (Optical storage)
c. almslilvemssd GudGaulsar (Kevboard shortcuts)

. Spsangmid GHMAOEIL UG GBTLTIN fn GYUUsSHT aupsis.

Write short notes on the following technologies (3X2.5 yenerllmsir)
a. euemeuiwemoli] @ sFHlwisdsait (Network topologies)
b. Electronic whiteboards
¢. Collaborative software

. SEBTEPID LIGHSmsT ULIBHS.
Compare the following terms (3X1.5 marks)
a. Proprietry OGueiGummet 1wpmd Hwhs apsv  GueGurmet  (Proprietry
Software and Open source Sortware)
b. aifigrehsst whmD SrysHen (WaTMWLESS (Weomew (Spreadsheets and
database management systems)
C. (peowpevw OweGumme wH@pID WyGwrs GueiGurmen (System sofiware and
application software)

14



4. Ueneumsuaauiens allenb@Es.
Explain the following. (3X2.5 marks)
a. Gusssaionls Sen® npamwser (2 disadvantages of cloud computing)
b. Guas sofawouls ByemE euamasss (2 types of cloud computing)
C. ULBMUESPEHHL Llgib wiemaisErhE UsfOswsd GLoaGiummHeie
@@ uwesst (2 usefulness of spreadsheet software for undergraduates)

o s o ok o o ko o ok o ko sk ook Rk Rk KR R KB Ofpaperuu**n***nuu**uuuu
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